SH SH	IKS	<b>H</b>	A			S	S	ES	S
Subject : Algebra Class : X	Answ 6.	v <b>er P</b> Statisti	ap ics	er			Mai	rks : 1	20
Q.1 : A) Choose the correct alter following questions.	native of th	e 2	Time (hrs	e Class	Fre	qu-	Class m Frequen	nark x cv x./:	f.
<ol> <li>If the numbers in data are ascending order, the number position is called as</li> <li>Ans: c) Median</li> <li>An experiment can have.</li> <li>Ans: b) Many out come</li> </ol>	e arranged i r at the midd	in le	$ \begin{array}{c} (113) \\ 0 - 2 \\ 2 - 4 \\ 4 - 6 \\ 6 - 8 \\ 8 - 1 \end{array} $	2 1 4 3 6 5 8 7 0 9	$\frac{1}{1}$ $\frac{1}{1}$ $\frac{1}{2}$ $N = \sum_{i=1}^{n} \frac{1}{2}$	$f_{i} = 50$	$ \frac{1 \times 7}{3 \times 18} $ $ 5 \times 12 $ $ 7 \times 10 $ $ \frac{3 \times 9}{\sum x_i f_i} $	$\begin{bmatrix} 23 & x_1 \\ 1 \\ 2 \\ 3 \\ 3 \\ 4 \\ 3 \\ 5 \\ 4 \\ 5 \\ 5 \\ 4 \\ 5 \\ 5 \\ 6 \\ 6 \\ 1 \\ 1 \\ 1 \\ 1 \\ 1 \\ 1 \\ 1 \\ 1$	
c. f. = 22, L = 30 f = 18, h = then find median Ans: ∴ Given that, cf = 22, L = 30 F= 18, h = 10 ∴ Median = L + $\left[\frac{N/2 - cf}{f}\right] \times h$	<b>10, N = 70</b> ) and N = 70	Plac	2) TI of sh es F	Mean $\overline{\mathbf{x}}$ = ne followi electrici ow the in Factories 1	$= \frac{\Sigma f_i x}{\Sigma f_i}$ ing tab ty to control of the temperature of temperatu	$\frac{1}{5} = \frac{21}{5}$ ole show lifferentiation b Roads	$\frac{ 8 }{0 } = 4.$ ws the d nt plac y a pie Shops	36 hr; laily s e in a diagr offices	s. upply town cam.
$= 30 + (35.5 - 22) \times \frac{10}{18}$		Sup of elect city	ply tri-	24	14	7	5	6	4
$=30+(135)\times\frac{10}{10}$	5	Ans	s:	I					1
= 30 + 7.5 Median = 37.5				Supply of electricity	Unit	Meas	sure of ral angle	1	
<b>O.2 : A)</b> Attempt any ONE of the	following.	2		Factories	24	$\left \frac{24}{60}\times 3\right $	60 =144	.0	
1) The following table shows t students and the time they u	he number atilized dai	of ly		Houses	14	$\frac{14}{60}$ × 2	$360 = 84^{\circ}$	)	
time spent by students for by direct method	their studi	es		Roads	7	$\left  \frac{7}{60} \times \frac{3}{2} \right $	$360^{6} = 42^{6}$	D	
Time (hrs)         0-2         2-4         4-6         6-           No. of         0	-8 8-10			Shops	5	$\frac{5}{60} \times 3$	$360^{6} = 30^{6}$	0	
Students 7 18 12	10 3			Offices	6	$\frac{6}{60} \times 3$	$360^{6} = 36^{6}$	0	
				Others	4	$\frac{4}{60} \times \frac{2}{5}$	$360^{6} = 24^{6}$	0	
			. Th	ne pie diag	gram				

٦

Г



the mean of the percentage.							
Percentage	0-20	20-40	40-60	60-80	80-100		
of marks							
No. of	2	7	15	20	5		
~ .	3	/	1 13	∠0	5		

Class	Class	Frequency	Class mark x
(Percentage	Marks	(No. of	Frequency $x_i f_i$
ofmarks)	x	students)f <sub>i</sub>	
0-20	10	3	30
20-40	30	7	210
40-60	50	15	750
60-80	70	20	1400
80-100	90	5	450
		$N = \sum f_i = 50$	$\sum x_i f_i = 2840$

$$\overline{\mathbf{x}} = \frac{\Sigma \mathbf{f}_{i} \mathbf{x}_{i}}{\Sigma \mathbf{f}_{i}}$$

Students

$$=\frac{2840}{50}=56.8$$

- $\therefore$  The mean of percentage = 56.8.
- 2) The maximum temperature in °C of 30 towns in the last summer, is shown in the following table. Find mean of the maximum temperatures.

Max. temp.	24-28	28-32	32-36	36-40	40 - 44
No. of towns	4	5	7	8	6
	I		ļ	ļ	

Class	Class	Frequency	Class mark x
(Temp °C)	Marks	$\mathbf{f}_{i}$	Frequency $\mathbf{x}_{i} \mathbf{f}_{i}$
	x		
24-28	26	4	104
28-32	30	5	150
32-36	34	7	238
36-40	38	8	304
40-44	42	6	252
		$N = \sum f_i = 30$	$\sum x_i f_i = 1048$

$$Mean = \overline{x} = \frac{\Sigma x_i f_i}{\Sigma f_i} = \frac{1048}{30} = 34.9^{\circ}$$

2

- Q.3: A) Attempt any ONE of the following. 3
  - 1) Grouped frequency distribution of supply of milk to hotels and the no. of hotels is given in the following table. Find the mode of the supply of milk.

Milk (Litre)	1-3	3-5	5-'	7	7-9	9-11	11-13	
No. of hotels	7	5	15		20	35	18	
	Class				Fre	equenc	у	
1-	1-3			7				
3-	3-5			3				
5-	5-7			15				
7 –	.9			20 f <sub>0</sub>				
9-	9–11 Modal class			35 f <sub>1</sub>				
11-13			18 f <sub>2</sub>					
·	$\therefore \qquad \text{Modal class is 9-11.}$							

:. 
$$f_1 = 35, f_0 = 20, f_2 = 18$$
  
L = 9, h = 2

Mode = L + 
$$\frac{f_1 - f_0}{2f_1 - f_0 - f_2} \times \boxed{h}$$
  
= 9 +  $\left[\frac{35 - 20}{2 \times 35 - 20 - 18}\right] \times 2$   
= 9 +  $\frac{15}{32} \times \boxed{2}$ 

$$=9+\frac{30}{32}$$

=9+0.9375

Mode = 9.94 litre.

2) The following table shows ages of 300 patients getting medical treatment in a hospital on particular day.

Age (in years)	10-20	20-30	30-40	40-50	50-60	60-70
Number of patients	60	42	55	70	53	20

Find the median age of the patient.



Age (in yrs)	Number of	<b>C. F.</b>
	Patients	(Less than type)
10-20	60	60
20-30	42	60 + 42 = 102
30-40 Median	55 <i>f</i>	102+55=157c.f.
class		
40-50	70	157 + 70 = 227
50-60	53	227 + 53 = 280
60-70	20	280 + 20 = 300
	N	

 $N = 300, \frac{1}{2} = 150$ 

C. F. which is just greater than 150, 157 i.e.

 $\therefore$  30 - 40 is the median class.

$$L = 30, f = 55 c. f. = 102 h = 10$$

:. Median = L + 
$$\left[\frac{N/2 - c.f.}{f}\right] \times h$$

$$= 30 + \left[\frac{150 - 102}{55}\right] \times 10$$

$$= 30 + \left[\frac{55}{55}\right] \times 10$$
  
= 30 +  $\frac{480}{55}$   
= 30 + 8.73  
Median = 38.73 yrs.

- :. Median age of patient is 38.73 yrs
- B) Attempt any ONE of the following.
- 1) Draw the histogram to represent the following data.

Daily Sales	0-	1000-	20 00-	3000-	4000-
of a Store	1000	2000	3000	4000	5000
(in <b>₹</b> )					
No. of	2	12	10	4	2
days in					
month					

Ans:



3



2) The following table shows frequency table of daily wages of 50 workers in trading company. Find the mean wages of a worker, by assumed mean method.

Daily wages	200-240	240-280	280-320	320-360	360-400
Freq- uency	5	10	15	12	8



Class	Class	$\mathbf{d}_{i} = \mathbf{x}_{i} - \mathbf{A}$	Frequency	Frequency x			
(₹wage)	mark x <sub>i</sub>	$d_i = x_i - 300$	(No. of workers)	Deviation			
			$\mathbf{f}_{i}$	f <sub>i</sub> xd <sub>i</sub>			
200-240	220	-80	5	-400			
240-280	260	-40	10	-400			
280-320	300 A	0	15	0			
320-360	340	40	12	480			
360-400	380	80	8	640			
Total			$\Sigma f_i = 50$	$\Sigma f_i d_i = 320$			
$\overline{d}$ $\Sigma f_i d_i$ 320 $\zeta d$							
a	$= \frac{1}{\Sigma f}$	$-=\frac{-}{50}=$	0.4				





10

X'

students?

 $\int_{X'}^{Y} 20 \quad 30 \quad 40 \quad 50 \quad 60 \quad 70 \quad 80 \quad 90 \quad 100 \quad X$ 

Marks

i) Which class has the maximum no. of

